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1 = goo E 2,000,000
2 — oooobogon E 700,000
T3 = goo E 326,666
T3 = goo E 326,666
T3 = goo E 326,666
6 ("] goo E 240,000
T7 = goo E 185,000
T7 = goo E 185,000
T9 = goo E 140,000
T9 = goo E 140,000
T11 = goo E 115,000
T11 L] goo E 115,000
T13 — ugboogog E 94,000
T13 = goo E 94,000
T13 = g E 94,000
T16 = goo E 81,000
T16 = gogo E 81,000
T16 p | goooob o E 81,000
T19 = goo E 72,480
T19 = goo E 72,480
T19 = goo E 72,480
T19 = oo E 72,480
T19 = goo E 72,480
T24 = goo E 64,833
T24 = 00 E 64,833
T24 = googd E 64,833
T24 = goo E 64,833
T28 = goo E 56,416
T28 L] goooo E 56,416
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